EGB_OgolnyObiekt EGB_OgolnyObiekt EGB_OgolnyObiekt
«FeatureType» «FeatureType» o «FeatureType»
EGB_JednostkaEwidencyjna & EGB_KonturUzytkuGruntowego + EGB_KonturKlasyfikacyjny
- T g
+ geometria: GM_MultiSurface [0..1] ] + geometria: GM_Surface z + geometria: GM_surface
+ idJednostkiEwid: CharacterString B RE Sz EChA A cterString & + idKonturu: CharacterString
o z
+ nazwaWlasna: CharacterString g ¥ ORLEEE Ol z + OZU:EGB_OzZU
g 2 + OZK:EGB_OZK[0..1]
+lokalizacjaUzytku z
1L \b constraints
{powiazanieZOFU}
EGB_0OgolnyObiekt {powiazanieOZUOrazOZK}
«FeatureType» ) +lokalizacjalRG
+lokalizacjaDzialki EGB_ObrebEwidencyjny
+lokalizacjaJRB
0.1 + geometria: GM_MultiSurface [0..1]
+ idObrebu: CharacterString
e + nazwaWlasna: CharacterString
EGB_OgolnyObiekt +dzialkaZabudowana
<cF?atureTypE)) ) L+ 0.%
EGB_DzialkaEwidencyjna EGB_OgolnyObiekt
+ idDzialki: CharacterString «FeatureType»
+ geometria: GM_Surface EGB_Budynek
+ dokumentWlasnosci: CharacterString [0..*] - ;
+  numerkW: CharacterString [0..*] + idBudynku: CharacterString
+ poleEwidencyjne: Area + geometria: GM_MultiSurface [0..1]
Lr oy dokladnoscReprezentacjiPola: EGB_ZapisPowDzialki +  rodzajWgKST: EGB_RodzajWgKST
1+ klasouzytek: EGB_Klasouzytek [1..*] + liczbaKondygnacjiNadziemnych: Integer
+ dodatkowelnformacje: CharacterString [0..1] +  liczbaKondygnacjiPodziemnych: Integer
- + powZabudowy: Area
constraints + /lacznaPowUzytkowalokaliWyodrebnionych: Area [0..1]
{dozwoloneZnakiDlaAtrybutuNumerkW} + /lacznaPowUzytkowalokaliNiewyodrebnionych: Area [0..1]
+ /lacznaPowUzytkowaPomieszczenPrzynaleznych: Area [0..1]
0.* ‘ budynekZElementamizwiazanymi” | dokumentWlasnosci: CharacterString [0..*]
N + numerKW: CharacterString [0..*]
EGB_OgolnyObiekt || . dodatkowelnformacje: CharacterString [0..1]
«FeatureType» S
EGB_ObiektTrwaleZwiazanyZBudynkiem {dozwoloneznakiDlaAtrybutuNumerkw}
+ geometria: GM_Object
+ poliliniaKierunkowa: GM_Curve [0..1] 0.1 1.
+ rodzajObiektuZwiazanegoZBudynkiem: EGB_RodzajObiektu +budynekZWyodrebnionymLokalem

{geometriaPowierzchnia}
{geometriaPunkMultiPunktPowierzchniaMultiPowierzchnia}
{wymagalnoscPoliliniiKierunkowej}

constraints

EGB_OgolnyObiekt

«FeatureType»
EGB_BlokBudynku

geometria: GM_Surface

rodzajBloku: EGB_RodzajBloku
oznaczenieBloku: CharacterString [0..1]
numerNajwyzszejKondygnacji: Integer [0..1]
numerNajnizszejKondygnacji: Integer [0..1]

+ + + + +

prguiapiojgzyauipng +

«FeatureType»
EGB_LokalSamodzielny

EGB_0OgolnyObiekt

idLokalu: CharacterString

numerPorzadkowyLokalu: CharacterString [0..1]
rodzajlLokalu: EGB_RodzajLokalu
dokumentWlasnosci: CharacterString [0..%]
numerkKW: CharacterString [0..]
powUzytkowalokalu: Area
/liczbaPomieszczenPrzynaleznych: Integer [0..1]
/powPomieszczenPrzynaleznychDolokalu: Area [0..1]
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EGB_0OgolnyObiekt

«FeatureType»
EGB_PomieszczeniePrzynalezneDolLokalu

nrkondygnacji: Integer [0..1]
dodatkowelnformacje: CharacterString [0..1]

+ 4+ + + + + + + + +

0.* constraints

+ + + +

rodzajPomieszczeniaPrzynaleznego: EGB_RodzajPomieszczenia
powierzchniaPomieszczeniaPrzynaleznego: Area
dodatkowelnformacje: CharacterString [0..1]

idBudynku: CharacterString [0..1]

{dozwoloneZnakiDlaAtrybutuNumerkW}

+JRdlalokalu

+pomPrzynalezne

0.*

0.1

EGB_JednostkaRejestrowalokali

EGB_JednostkaRejestrowa

«FeatureType»

+JRG2 0.*
+ idJednostkiRejestrowej: CharacterString 0.*
HRGZwiazanaZIRL\ | /1. + Iic_znikUdz.iaIuWNieruchomWspolnej:Inte.ger . +czescWspolnaDlalokalu
+ mianownikUdzialuWNieruchomWspolnej: Integer 0..
EGB_JednostkaRejestrowa + /grupaRejestrowa: EGB_GrupaRej
«FeaturfeType» 0.* +JRBdlaBudynku
EGB_JednostkaRejestrowaGruntow
1 R ) - +RGZwiazanaZIRB EGB_JednostkaRejestrowa
+ idJednostkiRejestrowej: CharacterString 0.1
+ /grupaRejestrowa: EGB_GrupaRej 1= 0.1 «FeatureType»
EGB_JednostkaRejestrowaBudynkow
0.*
1.* + idJednostkiRejestrowej: CharacterString
+ /grupaRejestrowa: EGB_GrupaRej




«Enumeration» «Enumeration» «Enumeration»
EGB_OFU EGB_OZU EGB_OZK
gruntOrny = R gruntOrny = R |
sad=5§ lakaTrwale = t I
lakaTrwala =t pastwiskoTrwale = Ps Ll
pastwiskoTrwale = Ps las = Ls la
gruntRolnyZabudowany = Br gruntZadrzewionylZakrzewiony = L2 b
gruntPodStawem = Wsr nieuzytek = N v
gruntPodRowem = W IVa
gruntRolnyZadrzewionylZakrzewiony = Lzr Vb
las = Ls «Enumeration» v
gruntZadrzewionylZakrzewiony = Lz EGB_GrupaRej vi
terenMieszkaniowy = B Viz
terenPrzemyslowy = Ba skarbPanstwa = 1
innyTerenZabudowany = Bi skarbPanstwaZUW =2
panstwowaOsobaPrawna = 3 «DataType»

zurbanizowanyTeren NiezabudowanylubWTrakcieZabudowy = Bp
terenRekreacyjnoWypoczynkowy = Bz

uzytekKopalny = K

droga = dr

terenKolejowy = Tk

innyTerenKomunikacyjny = Ti
gruntPrzeznaczonyPodBudoweDrogPublLubliniiKolej = Tp
nieuzytek = N
gruntPodWodamiPowierzchniowymiPlynacymi = Wp
gruntPodWodamiPowierzchniowymiStojacymi = Ws
gruntPodMorskimiWodamiWewnetrznymi = Wm
terenRozny = Tr

«Enumeration»
EGB_ZapisPowDzialki

doklDoM =1
doklDoAra =2

gminylZwiazkiMiedzygminne = 4

EGB_Klasouzytek

gminylZviakiMiedzygminneZUW =5

JSTOsobaPrawna = 6 PRN DFEGR OFU
BhobyHirycne ~ 7 + OZK:EGB_0ZK [0..1]
spoldzielnie = 8 N OZUi EGB‘QZU 01
kosciolylZwiazkiWyznaniowe = 9 RNtk Area
wspolnotaGruntowa = 10 constraints
powiatylZwigzkiPowiatow = 11 {tworzenieOznaczenia}
powiatylZwigzkiPowiatowZUW = 12 {zaleznoscOFUIOZUIOZK)
wojewodztwa = 13
wojewodztwaZUW = 14
spolkiPrawaHandlowego = 15 «Enumeration»
innePodmioty = 16 EGB_Rodzajlokalu
mieszkalny = 1
niemieszkalny = 2
«Enumeration»

«Enumeration»
EGB_RodzajWgkKST

mieszkalny =m
produkcyjnyUslugowylGospodarczy = g
transportullacznosci = t
oswiatyNaukilKulturyOrazSportu = k
szpitalalinneBudynkiOpiekiZdrowotnej =z
biurowy = b

handlowoUslugowy = h

przemysiowy = p
zbiornikSilosIBudynekMagazynowy = s
budynekNiemieszkalny = i

«Enumeration»
EGB_RodzajObiektu

taras =t

werandaGanek = w

wiatrolap = i

schody = s

rampa =r

podpora = o

wjazdDoPodziemia = j
podjazdDlaOsobNiepelnosprawnych = d

EGB_RodzajBloku

kondygnacjeNadziemne = n
kondygnacjePodziemne = p
lacznik = |

nawis = a
przejazdPrzezBudynek = z
inny=y

«Enumeration»
EGB_RodzajPomieszczenia

piwnica = 1

garaz =2
miejseePostojoweWGaraz =3
strych =4

komorka =5

inne =6






